2. ;‘he rulers of which of the following dynasty have
€en called as ‘Shriparvatiya’ in Puranas ?

(38) Vakatakas

b) lkshvak
(€) Shake (b) Ikshvakus

(d) Kharvelas

g Committees recommended |

a Poverty line based on nutritional requirements |
exclusively 7

(a) Alagh Committee

(b) Lakdawalg Committee
(C) Tendulkar Committee
(d) Rangarajan Committee

4. The official Agronomai’ dunng Mauryan age was
related with which of the following field ?
(@) Weight and Mmeasurement
(b) Administrative management -
(c) Construction of roads
(d) Revenue Management '

S.  Which of the following indicators is NOT used to |

calculate Human Development Index (HDI) ?
(a) Life Expectancy

(b) Education
(c) Per Capita Income
(d) Social Inequality

6. Match List — I with List — Il and select the correct
answer using the codes given below the lists -

List—| List -1l
(Mahajanpadas) (Capitals)
A. Matsya 1. Mathura |
B. Kuru 2. Potan .
C. Sursena 3. Virat Nagar .
D. Asmak 4. Indraprastha .
Codes : -
A B C D
(a) 4 2 1 3
(b) 3 1 4 2
(c) 3 4 1 2
(d) 2 3 4 1

Frrfrfad g 8§ @ SiF-81 Ha e ga
(T .37, ) i ToE T At T@ faR S R ?

(@) STaq wegTen

(b) farea
(c) ufa =afeq 3™
(d) i rEHTHEaT
gt - | = gt - 1| @ gafea Hifse qw gt
2 e T e A v I T
g - | = - I
(WETeTag) (Trrerr)
A. T 1. 73U
B. %% 2. 9rad
C. JREA 3. famea
D. 3199 4. 99
Fe
A B C D
(@) 4 2 1 3
(b) 3 1 4 2
(c) 3 4 1 2
d 2 3 4 1



10.

11.

9. During the mid 80's decade of twentieth ce

'Was qj
18] ONOH Lenin y' was given by

(b) Gunn
(c) Aashish Bose o Myrda)

(d) Amartya gen

8. Given below are two

statements '
as Assertion (A) and ' ON€ Is labe|led

the other as Reason (R) :

gve much more Information
€Ir predecessors
Reason (R) : The Chola rulers adopted the

practice of having INscriptions written on the walls

of temples giving a histori ‘
cal narrat
ctorioe ve of their

Codes :
(a) Both (A) and (R) are true angd (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

| ntury,
the negative aspects of development were

discussed at large. Which one among the
following was NOT such important ?

(a) Degradation of natural resources
(b) Environment pollution

(c) Politics and Development
(d) Displacement and Rehabilitation of masses

Which of the following Indian Archaeologists first
visited '‘Bhimbetka Caves' and discovered prehistoric
significance of its rock paintings ?

(a) Madho Swaroop Vatsa

(b) H.D. Sankalia

(c) V.S. Wakankar
(d) V.N. Mishra

No. of cities in U.P. which are covered under the
‘Smart City' Scheme
(a) 10
(c) 15

(b) 12
(d) 18

10.

1.

12 @ wem Rl E, P wh W R (A) T
T8 1w (R) FET T R

W{A):Bﬁﬁﬁcﬁ%ﬁﬂﬁﬁ%t@ﬂﬁmﬁ

H e fies JHE B |

FRON(R) : ST T X w1l 61 Eami w AeE

Il T w1 ST oy R R e e

% et faao fe@ 9d & |

2 fA ™ 32 # A ¥ IW w1 w4w AT |

C T

(a) (A) 3k (R) 31 @@ & 3T (R), (A) it 7&
T HT B

(b) (A) 3f (R) 2T ®El & g (R), (A) < FE
e T8 Al B

(c) (A) &ed B T (R) TTeid @

(d) (A) TeTa B 9T (R) T 2

el = 3 3t 2 2aTeh % WA ferehrd 3 AT
&l W foram & ==t 6 T | Frafafea § 8 sE-E
T ITH HEAqY g A1

(a) Spfeh FaT F

(b) wTEROT SIEET

(c) Trifa wa fasmd

(d) SHETT= & faeTs wd Eat

Preffes & & frm g quamsawn 3 veeh
TR firdew THT F o o I fafE &
sitfereTfiies wee ® @ 2

(@) WYY TEEY T

(b) T=. B, wIfern

(c) . TH. TR

(d) =t.e. e

3. F I W IR A e e Ao  Ir=ied B
(a) 10 (b) 12

(c) 15 (d) 18



5 R _Iaﬁ@—llﬁ@%ﬁ%mm |
— , select the correcl 12. @ W S | N , [ |
1> Match List — | with List= Ilig: below the lists A2 oA ™ Fe | wE I I -
" answer using the codes g List =1l it - | . Sk |
List -1 stato of India) () (AT /v STy
4 (UT’Stat | 3
(Harappan Site) | oradesh A. ] 1. IA we |
A. Balu 1. Uttar - Cashmir B. HIET 2. GfFILT{H HIHR |
C. Padri 3. Haryana D. &cTd 4. TS
D. Hulas 4. Gujaral F2:
Codes : | A B C D
A B ¢ D @ 3 2 1 4
(a) 3 2 9 : | (b) 2 3 4 1 |
) 23 4 ¢ 2 4 3 1
(c) 2 4 3 1 d 3 2 4 1 |
(d) 3 2 4 | |
e Developmentwas | 13. T 1987 ¥ wgw TR § watawr ¥ g |
13 The discussion on 'Sustainable Developm friss gy e
b started after submitting a report on environment Tidee it sl & 390 ‘umvitg e (FR¥Ee
to the United Nation in 1987. That report was SaeTHvE) R == S 7| 9 wfde o
(a) First Report on Climate Change (a) IeT9TY TREd W TEen gl
(b) Our Common Future (b) = i sl |
(c) Second Report on Climate Change (c) W qﬁaﬁq W HU Aidded
(d) Fifth Assessment Report (d) 9T=ET gogreh Ufaded
14. Consider the following statements and selectthe | 14, ﬁqf%if@?l U1 W faan i qon M2 B3 W
correct answer using the codes given below : | %< | w& I g0
1. The Sun temple of Multan is mentioned IR Rt B o pe—— i f
by Hiuen Tsang, Abuzaiyid, Al-Masudi and * RS I | RET, AT,
2. The pilgrimage to Sambapur was 2. §TEY ATHICEHA ?ff‘frn | grafa o7 |
associated with Sun worship. Fe:
Codes : 3
(a) Only 1 is correct (a) 158! 2
(b) Only 2 is correct (b) et 2 = 2
(c) Both 1 and 2 are correct () 13 2 g1 7t &
(d) Neither 1 nor 2 is correct (d)Fdt 178 2 R
15. The Atal Innovation Mission (AIM) is a flagship [ 15. 37eet 7=t firem (u.3m$ . ) frg fvm 6 T
Initiative set up by T8 B ?
(@) Ministry of Human Resource Development (a) e HEY e dEem
(b) NITI Aayﬂg_ | OELLE I
(c) Minfs_try of Sopial Justice and Impowerment (c) AT = v afustar e
(d) Ministry of Science and Technology CORCEIER A E IR B
16.  Who of the following was sent as representativeof | 16. WA TR 20 1919 ¥ HE3.Ua.30. & SifivTes
labourers by Indian Government in the Washington O § woigl SRty ¥ w9 § Seffeg &
Summit of I.L.O. in the year 1919 ? 4 forl o T o 2
(a) V.P. Wadia (b) N.M. Joshi (a) .91, anfean (b) TA.WH. SAeh
(c) C.F. Andrews (d) Joseph Baptista (c) H.u%. wgw (d) IR% AR



18.

18.

20.

21.

(b) Karl Marx

(d) Rajgopalan
th;\draenfﬂﬁ:'éie ;Ftthe Treaty of "Aix—-la-Chapelle
oo he following statements is/are

1. The |l Ca ‘
2 The Er: ll'natlc War was ended.

glish got back Madras
Select th : '
Sk € Correct answer using the codes given

Codes :
(a) 1 only

(c) Both 1 and 2 o ony

(d) Neither 1 nor 2

Which one among the following is NOT covered under |

Integrated Child Development Programme ?
(3) Supplementary Nutrition
(b)Y Immunization

(d) Nutrition and Health Education
(d) Family Planning

Match List — | with List — Il and select the correct
answer using the codes given below the lists -
List -1 List — |l
A. Indian Arm Act 1. 1876
B. Royal Title Act 2. 1878
C. Indian High Court Act 3. 1869
D. Indian Divorce Act 4._1861
Codes :
A B C D
(@) 2 3 1 4
(b) 3 1 2 4
(c) 1 2 3 4
(d) 2 1 4 3
Match List — | with List — Il and select the correct

answer using the codes given below the lists:
List — | List — I

A. Indus Valley Civilization 1. Pastoral

B. Later Vedic Society 2. Land Lordism

C. Rigvedic Society 3. Agrarian

D. Medieval Period 4. Urban

Codes :

B
(@a)d4 2
(b) 2 1
c)3 4
(d)4 3

A

- abhwO
NN W-aDO

18.

19.

17. = 1962 # v g wee e fed e

20.

21.

RFL -1

¥ il s @ i el % T g
(a) et ke (b) rel T b
(c) Taet HrEA (d) i,

‘Y -w-vaE — 1748" ) w4 & wwed |
i =y 8 3 FE-T1/3 98 8/ 7

1. Wem FAfeh Jg 1 B |

2. 37U @ HZTE I 9T B3 |

R f&it mi g2 @ g I FF |

Fe:

() Faet 1 (b) et 2

(c) 1 3 2 2 (d) Aad 138 2

i ¥ F9-a1 uh afafed T8 8 2
(@) e aTvT

(b) ZremTaRToT

(c) Ty ug WA foa

(d) ufEam e

qef — | T g - 11 @ gk A T gieE &
2 fdt M e A wE I g

et — | e - |
A. MR I ATufEm 1. 1876
B. et g arfufm 2. 1878
C. ¥R == ed Afufam 3. 1869

D. v faam fa=de wfufam 4. 1861
L T4

A
(@ 2
(b) 3
(c) 1
(d) 2

gt — | =1 g — || & gafea i T g
T - | T -

Am—t(ﬁfﬂ




Z
| ?
22. Who had merged Sikkim in Inci3
(a) Lord Hastings
(b) Lord Willlam Benlinck

(c) Lord Dalhousie
(d) Lord Auckland

-
,

of U.P became million
ES :

Kanpurand Lucknow cil 4 in the year

cities as per the census aof Indi
(@) 1951 and 1961 respectively
(b) 1961 and 1971 respectively
(c) 1971 and 1981 respectively
(d) 1881 and 1991 respectively

' T
ders did NO
E‘aﬂuund Table

23

Who among the following !
participated in the Secon
Conference ?

24

(a) MK Gandhi %
(b) Sarojini Naidu ‘

() Pt. Madan Mohan Malviya
(d) Dr. Rgjendra Prasad

t
25. Match List — | with List - Il and select the correc

answer using the codes given below the lists .
List — | List - Il ‘
A. Jajmani 1. North India
B. Bara Balute 2 Karnalaka
C. Mirasi 3. Maharashtra
D. Adade 4. Tamil Nadu
Codes
A B C D
(@) 1 2 3 4 ~
()1 3 2 4
()1 4 2 3
1 3 4 -

26. Match List - | with List -1l and select the correct

answer using the codes given below the lists :

List - | List - ||
(Book) (Writer)
A. The Story of My 1. Surendranath
Deportation Banerjee
B. Gita Rahasya 2. Maulana Abul
Kalam Azad

C. A Nation in Making
D. India Wins Freedom

—WwWwWwN D

3. Lala Lajpat Raj

4. Bal Gangadhar
Tilak

Ry
fafara &1 973 8 ey £ . |
| P e e, N
(b) A% Fateran 7
(c) A2 ZAZIA
(d) @2 ATFAuz
2 Wﬂm?ﬂnm%;ﬁﬁwﬁ%
(b) #HI: 1961 FHhr 195, 3 '-
(C) FHI1: 1971 3 1981’5}
(d) FH71: 1981 3 1991 3
24 ﬁ:?ﬁaﬁaaﬁmaﬁqg, ‘
(b)gﬁﬂ?ﬁqﬁ 3
(C) a7 mmq’r;m &
{d)ﬁ.ﬁ?m
= - il TR PO
E&?W?ﬁ%ﬁﬁ%!‘“w%ﬂ
= - s
=)
A. T L
B. A 75z \
-. 2. Tz
cfmTFq 5
). I 4. 7h
+e: BEIE
(a) 1 2 3 4
(b)'l 3 2 4
(c) 1 4 2 3
(d) 1 S 4 -
b SN T
T 2 32 8 ) ey g T
q - | )
A. T HH "
" {3y BT Tl
B. T 7 2. WIS % wem
A
C. ¢ T 7 afm 3. ST R Ty
D. 3fvgan fam srex 4. A TR fireres
%
A B C D
@ 3 4 1 >
(b) 4 2 1 3
) 2 4 1 3
(d) 4 3 2 1




27. The concept of ‘Marginal Man’ was propounded by

(a) Robert E. Park (b) Robert Redfield

(c) Louis Wirth (d) Louis Dumont

28. Who among the following established a modem
armoury in Dindigal Mysore in 1755 ? l

(a) Nanjraj
(b) Haider Alj
(c) Devraj
(d) Chikka Krishnaraj |

29. Which one of the following is NOT a major cause
of Wildlife Extinction ? |

(a) Loss of natural habitat

(b) To make fire in the forest

(c) lllegal commercial trade of wildlife
(d) Fast pace of population growth |

30. Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R)

Assertion (A) : The British Government
introduced different land revenue system in
different part of India.

Reason (R) : It led to create different classes in
Indian peasantry. l
Select the correct answer from the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

31. In August, 2020 Railway Museum in India was
dedicated to the nation at which of the following

places ?
(a) Hubballi (b) Mysore
(c) Silvasa (d) Chittaranjan

27.

28.

29.

30.

31.

RFL - |

e T sfa (Wi #9) A FHel
yfeqres fean
(a) Tad . W (b) T TTHIES

(c) % a4 (d) T3 FATE

Prfafign & @ =9 1755 § fefere &gy 7 TH
mgﬁa::rﬁmﬂ‘cﬁwm‘rﬁ?ﬁ?

(a) F9=

(b) & el

(c) 2aUs

(d) ferept oo

frferfigg & & H1H-|1 Uk FA9TvRET & fagedienT
&1 YqE H10 TE 8 7
(a)mmﬂmﬁm

(b) ST H AT M AT

(c) Fgmiferdl =1 3AY ATV =TI

(d) FEE $ 93 318

9 2 wuq f23 ™ 2, T 1w @ weE (A) 3

gat 1 FA (R) F&1 T 2

FeA (A) : fafes TR 3 wiE 5 ST - 37T T

§ - &1 -3 a1 Al Al |

FWOI(R) : 398 WRATS e | a7 - 37 971 a4

T |

2 R M e ¥ ¥ 7 IW AT |

c .

(@) (A) 37 (R) SHT @& € 3R (R), (A) i F&l
ITT HT @

(b) (A) 3R (R)gHI H&l @ T (R), (A) %I Tal
ST T8 Al &

(c) (A) W&l & 9% (R) TTeid 2

(d) (A) TeTd R W (R) el 2

YRE § 307, 2020 # fr=fefes == 8 | F:3l
W I GURTEd s sl gafua fehan man 2

(a) gae (b) HE
(c) faeamar (d) TFaatam




7 % 4 arrange the™ in | 3% rafedd Eﬁﬁo, )
32. Consider the following text an ; q;a'aﬁ-ﬁ:'
chronological order : 2' wm_ﬂ-{ﬁ
4 1. Fatawa-i- Jahandari - =
2. Pnthviraja-Raso 3. fepdT e
3 Kitab-ul-Hind 4 qasd-Y
4. Tabagat-i-Nasiri codes given Ay fy m Fe A gel I giHu
Select the correct answerl from 1€ | e -
below. \ 3 4 1
(I:ﬂdES' () < A
(a) 2, 3:4,1 (b) 3.1 f 5
(b) 31,2 4 (c) 4r34 1
(c) 4,3, 1,2 (d) 3,2
(d) 3,2 4,1 - 5 ~ _
he first Arab 33. ez, 2020 i featafea 1 8 F5-q s
33. Which among the following be(::am_e t E: 2020 ? =1 JATUT F1d 9T TESAT 3 e B 7
Nation to launch the Mars Mission in JUY. (a) BHEl 3
(a) Saudi Arabia (b) ﬁ
(c) United Arab Emirates (d) T
(d) Qatar
| A s 51
34. Who was the ruler of Golkonda when Aurangzeb | 34. 1687 i 5 afoTeE Tﬁﬁ?@ et 37&1‘%':
' fepa1, 38 THA TADUS] HT ITHE H7 oy -

seized the fort of Golkonda in 1687 7

(a) Abul Hasan Qutb Shah (a) g &8 P9 &

(b) Sikandar Adil Shah | (b) faer=gt ar1feer IR
(c) Ali Adil Shah II (c) 37T 3rrfes 78 |
(d) ITEET @

(d) Shayasta Khan -

35. Which of the following neighbouring countries of | 35. ¥4 & frafafiga vt o g g Ex-e ﬂ?ﬂ'é, 2020

India has banned free internet for social media H giere Hifew & o0 9% 3720 491 w -
in July, 2020 ? | TR 7
(a) Nepal (b) Bhutan CELIS (b) X
(¢) Myanmar (d) Bangladesh | (c) R (d) S
36. Which of the following statement/s is/are correct ? | 36, Fefafad a1 4 3 $9-m /8 T 3/3 7
1. Akbar tried to fix the age of marriage for 1. e 4 T3H1 3N Al & fyame ﬁ
boys and girls. Riuffe 0 %1 g foear o g
2. Akbar gave freedom to girls to marry at their 5 Y sefRdi & R &
own will and not under parental pressure. i ' Em AT %_W H e
Select the correct answer using the codes given itk fa?:ng FH H ASRECIRAR
below. ﬁﬁﬁﬁﬁwmm?ﬁmﬂﬁql
Codes : kT
(a) Only 1 (b) Only 2 (a) Hae (b) ad 2
(c) Both 1 and 2 (d) Neither 1 nor 2 (c) 1 3R 2 g (d) F@ 178 2



E’é RFL -1

37. Which of the following st
t e .
Ideas Summit, 2020 i;ii:i;f;bﬂm ndia 37. "HvsHl e gime, 2020 ki PR
|8 gwas organised by US — India Business e /HuEl °§ @ wHA-E1/H HE /2 7
" TE:TEQ virtually on 22”“_JUI}'* 2020 1 =8 fres -aE SaE TiEg grl aEd:
e el e Summit was Empowering 22 FeTd, 2020 1 A feran T
Select th 2. zae faua (2fim) TG 6l HofFdaRTor Ail
iy e correct answer from the codes given | % R EE'E(!?| Hlﬁ O i
Codes : o s
a) =hddi hdc
() Both1and2  (d) Neither 1 nor 2 (c) 1 2 vt @ AT 1A 2
38. Match List — | with List — |l and s Eq',%ﬁ‘ EIIEL sﬁﬂ'ﬂ'ﬁ
answer using the codes giign tsnilliﬁ mz E::;gct - E %ﬂ@ = I:q_; . B %
- H 341 <hl ﬁﬁl'! :
:";i:_‘ | | List — I -l Be it
i (Assign Duty) . . "
A. Diwan-i-Tan 1. Look after the office L) ( ?a?i::'ﬂ)
B. Mustarfi 2 Maintained a proper | A Fam-u_aq 1. FrEieE B a5 fem
list of main events B. HEaTél 2. Y@ gTNAT S FUATAL 1
| and firmans g4 m :
C. Mushrif 3. Look after the Jagir | C. HIM® 3, @i @ a6 il GE
- and Salaries D. afsardE 4. T4 ! IA-TY I
D. Vakianvis 4. Examine the income- e T
expenditure of State :
Codes : L
A B C D | A B C D
(a) 2 4 1 3 (a) 2 4 1 3
by 3 4 1 2 by 3 4 1 2
¢ 1 3 2 4 € 1 3 2 4
39 The Uttar Pradesh Cabinet has approved on 29 | 39. 3T & HEAHUSH 3 29 S[@TE, 2020 i Fr=feriad
July, 2020 to establish a National Law University at it § @ Frot o fafy favaferea 6 v
which of the following cities ? &1 TATeA fhar 2 ?
(a) Kanpur (b) Lucknow ' (@) HTHYL (b) @S
(c) Gorakhpur (d) Prayagraj (c) TREY (d) WATHIS
40. Which of the following is NOT corectly matched ? | 40. frofarfiga 4 FE-T1 98 gafed T8 8 7
(a) Shaikh Moinuddin Chishti - Ajmer I e R 5
(b) Shaikh Burhanuddin | (@) @ I -
Gharib —  Daulatabad (b) I@ FEHEHA e N SEIEI
(c) Shaikh Mohammad ' (c) @ HEee Tl _
Hussaini — Gulbarga '
(d) Shaikh Nizamuddin Auliya —  Multan (d) 9@ o affer - A

41. NI % g1 FEmd 3T @a Wl F 25 99, 2020

41 Indian Minister of Youth Affairs and Sports _
1 Hrgon femar 2 f6 ad 2021 1§ = zfoem

announced on 25t July, 2020 thatin 2021 fourth

‘Khelo India Youth Games' will be hosted by l gy e <ht HeEHl e T
(a) Haryana (b) Uttar Pradesh (a) i g " (b) I Tel gl
(c) Karnataka (d) Maharashtra | (c) FATEH g  (d) WEU g



peﬂﬂd can

42 Which of the following Mughal P! wah O
constructed by restoring the Rajab

Shah ? Nahr
(a8) Shekhnu-Ni (b) Shﬁiﬁigrﬁ
(c) Nahr-i-Bihisht (d) N2
Football ClUb

43. Which of the following Indi@n

became country's firstever footbal Time Square
on NASDAQ billboards in New York's 1!

on 29 July, 2020 ?

(a) East Bengal

(b) Churchill Brothers

(c) Mohan Bagan

(d) Bengaluru Football Club

44. Who among the following was the author of the
book 'Kitab-i-Nauras' ?
(a) Ibrahim Adil Shah Il
(b) Ali Adil Shah
(c) Quli Qutab Shah
(d) Akbar ||

45. The first'Kisan Rail' of India started its journey'nn
8th August, 2020 between which of the following

two stations ?
(a) Ghaziabad and Howrah |
(b) Devlali (Maharashtra) and Danapur (Bihar)

(c) Nasik and New Delhi
(d) Nasik and Ahmedabad

46. In which of the following districts of U.P. a major
solar power plant was established in collaboration
with France in 2018 ?
(@) Agra
(c) Deoria

(b) Ballia
(d) Mirzapur

47. Which of the following is NOT correctly matched ?

(Summit) (Place)
(a) East Asia Summit, 2020 - Singapore
(b) G-20 Summit, 2019 - Osaka
(c) G-7 Summit, 2019 - Biarritz
(d) EastAsia Summit, 2019 - Bangkok

48.  How many more ‘Ramsar Sites’ were added to
Uttar Pradesh in January, 2020 ?
(a) 3 (b) 6
(c) 9 (d) 12

-10-

als, was
f Firuz

|clubto featuré

43.

44.

45.

46.

47.

48.

(FeeT)
(a) 3% Uf¥rn weiem, 2000 - fﬁﬁg{)
(b) S1-20 9=, 2019 ~  3gTER
(c) Sfl-7 ¥, 2019 B

(d) 3R UM oo, 2019 - Fae

ST 2020 %, I wew  fra it .
qEe | e famar w2 F
(@) 3 (b) 6
() 9 (d) 12



*

49,

S0.

91.

S2.

a3.

o4,

55.

In which of the following States of India the

first-ever E-Lok Adalat was started during the
COVID-19 period ?

(a) Uttar Pradesh

(b) Maharashtra
(c) Chhattisgarh

(d) Bihar

Which of the following tribes is NOT the native to the

Andaman and Nicobar Islands of India ?
(a) Halchu

(b) Rengma
(c) Onge

(d) Shompen

With reference to the detailed report of Tiger
Census 2018 relea

‘ Sed by Government of India
in July 2020, which of the following Statement(s)

1. India has 70% of total
Population.

2. Nearly 30% of In
tiger reserve.
Select the corr

below.
Codes :

(a) 1 only

(c) 1and 2 both

global tiger's
dia's tigers live outside

ect answer from the codes given

(D) 2 only
(d) Neither 1 nor 2

Which of the following rivers is a Trans-Himalayan

river ?
(a) Jhelum (b) Sutlej
(c) Ganga (d) Ravi

Which among the following hosted ‘Global
Vaccine Summit' on 4th June, 2020 ?
(a) United Kingdom

(b) United States of America

() India

(d) China

Which of the following is NOT correctly matched ?
(Tribes) (Location)

(@) Angamis - Nagaland

(b) Birhors - Jharkhand

(c) Khas - Arunachal Pradesh

(d) Todas - Tamil Nadu

‘Sarthak' launched in August 2020 by Ministry of

Defence, Government of India relates to which |
of the following ?

(@) Smart Bomb
(b) Rocket Launcher
(c) Offshore Patrol Vessel

(d) Light Combat Aircraft

49.

50.

o1,

2.

S3.

54,

99.

RFL - |

v 3 Frfefiaa s 1 & et Fifas-19 mafy
° urefl an §-wreh rered woey w4l 7

(a) 3T WS (b) HeETT=g
(c) BHIETR (d) farem

F=afafaa sanfaat 4 8 s9-a yg % 3veaE
ﬁtﬁ?ﬁmzﬂqxﬂﬁﬂqﬂ“ﬁmpﬂwﬁ% ?

(a) BIeT (b) T

(c) 34 (d) TITEr

VT HTHT G0 JAT8 2020 H =i 1 morn 2018

W Sl feega ufaaes & = 1 foafafea w97/

FYA T A FH-T1/A 7E R/E 7

1. WA 7 faa 1 31 el i =) 1 70% R |

2. A & ST 30% AT, FT" 3NTEReET
& & 7

A9 e ™ %2 | g 3w 9fu

E T

(a) Faa (b) et 2

(c) 1 3 2 2 (d) T 13 & 2
Frafafeas 4 4 s-a1 v 79 fgrem -
(zra-femrem) 41 R 2

(a) 3I=H (b) HaeTH

(c) T (d) Tr=h

Frefafea 4 4 femy =iae Aedin goes 6
4 94, 2020 1 =T H 7

(a) FTses fohmen

(b) 9g&d = T

(c) ¥rd

(d) ==

fr=afafes & @ 55— T2 HUied A8 2 7
(S=Tq) (3mateafq)

(a) 37 - AN UE

(b) faER - @S

(c) TH = ITEUTES Wy

(d) 22T - BIEEIES

Imw,mmwmzuzuﬁm%m
wm'ﬁw%ﬁaaﬁﬁ%aﬁmﬁﬁa% ?

(a) =2 a9

(b) Tehz w&
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56. Match List — | with List ot
answer using the codes given below the |l

(
— || and selecl the correc

List - | List =l
Location)
(Lake) (
A. Sala Lake 1 Arunachal Pradesh
B. Badkhal Lake 2. Haryana
C. Loktak Lake 3. Manipur

D. Kaliveli Lake 4. Tamil Nadu

Codes :
A B C D
(@) 1 2 3 4 .
(b) 2 1 3 “
(c) 1 3 2 4
(d) 1 4 2 3

57.  Which of the following State Gﬂvemmen_ts has |
started ‘Pashu-Kisan Credit Card’ Scheme in year

2020 ?
(a) Gujarat (b) Haryana
(c) Punjab (d) Rajasthan

58. Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R):

Assertion (A) : Ahmedabad is the largest centre
of cotton textile industry in India.

Reason (R) : Ahmedabad is located in Major |
cotton growing region of India, so it has no
problem of raw materials.

Select the correct answer from the codes given |
below. '

Codes : '
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(¢) (A) is true but (R) is false
(d) (A) is false but (R) is true

59.  On 27t July, 2020 Prime Minister of India virtually
Inaugurated three new Indian Council of Medical
Research (ICMR) high-end testing laboratories for .
COVID-19 test at which of the following places ? |

(@) New Delhi, Kolkata, Chennai '
(b) Kolkata, Noida, Mumbai
(c) New Delhi, Kolkata, Mumbai

(d) Chennai, Delhi, Mumbai

RFL

=1

ﬁﬁ_llﬁgﬁﬁaﬁqmw% E

ft -1 E Fert AT
o6, ggﬁana%?ﬂﬁ' =it — I
=t - | (arateafa)
(gﬂﬂ;ﬁa 1. STEUTEE Weu
- grel 2 BT
:.a':»'@ﬂg:ﬂz 3. AT
e
i ¥ aiai
T‘::A 5 c D
4
(@ 1 fI? 3 4
(b) 2 2 4
(c) 1 ; 2 3
@ 1 A o
57. ﬁmﬁﬁﬂmaﬁzgmﬂféﬁm%?
Ei)risna () T |
55 4 @ e et T E, PR O 1 F (A) T Il

59.

T
ferm 2,
ﬁ%éﬁnﬁﬁzﬂﬁﬁﬁﬁl

E_)d(:A)aﬁT(R)éﬁGﬁﬁaﬂI(R). (A) $I T

TET Sl @
(b) (A) 31 (R) gHi &&l @ T (R), (A) Hi

SqTEA1 T8l T 8
(c) (A) T& 2 forg (R) Teidl @
(d) (A) Tera 2 feg (R) 9&T @

27 913, 2020 1 MRA & g 3 afafaa 8
fore =M w Fifas-19 wlem & f¥w @7 78 wrdiy
Fefsheen armmum witeg (am.dlun.am.) I=3-3vf
TRIRTOT SRAFTAITEATSAT 1 el Igame R ?

(a) 73 feeett, wieremr, I=r

(b) ieThran, iwg!, g

(c) 7% feeht, Fiewmran, qrar

(d) 9=, Fewett, qrars




60.

61.

62.

63.
in June 2020 as a non-permanent member of
United Nations Security Council for the year
2021-22 ? |
(a) Ireland (b) Ngrway |
(c) Mexico (d) Canada
Which of the following are NOT Comrectly matched ? 64.

(Mineral) (Mining City)

1. Copper — Chitradurga

2. Iron ore — Ballari

3. Manganese — Bhilwara

4. Bauxite - Katni

Select the correct answer from the codes given
below.
Codes :
(@) 1and 2 (b) 2and 3
(c) 1and 3 (d) 2 and 4

-13-

Which one of the following is the youngest |
mountain range of India ?

(a) Himadri Range (b) Aravalli Range
(c) Western Ghat (d) Vindhya Range '

Which of the following Airports in Uttar Pradesh |
has been granteqd Intemational Status on
24™ June, 2020 By Union Cabinet of Indig 7
(8) Agra Airport

(b) Prayagraj Airport

(c) Gorakhpur Airport

(d) KushinagarAirpnrt

Match List — | with List — Il and select the correct |
ansSwer using the codes given below the |ists -
List—{ List — 1[I '
(National Parks) (States) l
A. Indravati 1. Jharkhand |
B. Mollem 2. Haryana
C. Kalesar 3. Goa I
D. Betva 4. Chhattisgarh
Codes :
A B C D
(a) 4 3 2 1
(b) 4 2 3 1
(c) 4 1 3 2
(d) 3 4 2 1

Which of the following countries was NOT elected

60.

61.

62.

™k —1

F=fefes & & SR-f v H Fhiqaw ob9 Aot 27
(a) faaeh Soft (b) 3Traet Aof
(c) ufeaft are (d) fereamae Aot

ST 9w & Frafafae § & fra zard o3 @ v
%;%Rﬁaﬁﬁmgaﬁzzmﬁ, 2020 i 3T=aUsdg gt
iea fesar 2 2

() 3T 7ATE 3=

(b) TS BT 37T

(c) TREY Ba1$ 37=0
(d) FR =ard 3130
T — | 1 = — 1 @ A it gen g H
ﬁ%f&ﬁﬁ@ﬁ?ﬁﬁmﬁﬁq
TqE — | L CLEE |
(T 3am) (Tr=r)
A. s=Tad! 1. A@us
B. Hieam 2. '
C. ®arat 3. Tian
D. S947 4. o
+e:
A B C D
(a) 4 3 2 1
(b) 4 2 3 1
(c) 4 1 3 2
(d) 3 4 2 1

(b) 919
(c) affa= (d) sAT=T
ﬁn%iﬁaﬁﬁaﬁq—mﬂﬁgﬂ%aqﬁ% ?
(Tfrr) (STE 1)
1. diaT - et
2. |IE 3T == Eres i
3. Hrts = ESEIR
4. 9STSET13e - Al
N A ™ 52 A @ s gfe
%2 :
(@) 131 2 (b) 23tk 3
(c) 13t 3 (d) 23t 4




69.

70.

65. Consider the following statements about New
National Education Policy approved by Union
Cabinet of India on 29" July, 2020 .

1. It was drafted by a Committee headed by
Dr. K Kasturirangan.

2. It will replace the previous Education Policy
which has been followed since last 38
years

Select the correct statement(s) from the codes
given below.
Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

66. Valley of Kashmir is situated between
(@) Kangara and Dhauladhar ranges
(b) Pir-Panjal and Himadri ranges
(¢) Mahabharat and Dhauladhar ranges
(d) Pir-Panjal and Mahabharat ranges

67. Which of the following Indian States/Union

T%rritories launched Electric Vehicle Policy on
7'" August, 2020 ?

(@) Madhya Pradesh

2 Deih (b) Uttar Pradesh
|

(d) Tamil Nadu

68. Consider the following tributaries of River Yamuna

and arrange them from West to East :
1. Betwa

2. Ken
3. Sindh
4. Chambal

Select the correct answer from the codes given
below.

Codes :
(a) 4,3, 1and 2
(c) 3,2, 1and 4

(b) 1,2, 3and 4
(d) 2,3, 1and4

Which of the following Indian Foundations has

received the Food Vision 2050 prize in August
2020 ?

(a) Smile Foundation
(b) Naandi Foundation
(c) Adani Foundation
(d) Reliance Foundation

Which one of the following is NOT correctly
matched 7

(Country) (Iron-Ore

Producing Area)

(a) Kazakhstan - Karaganda
(b) Ukrain - Krivoy Rog
(c) Germany - Normendy
(d) France - Pyrenees

65.

66.

67.

68.

69.

70.

29%5";' ﬁﬁﬁmﬂﬁ%wuﬁh@ ‘
1. g8 Bl iﬁ.ﬂ_ﬁmiﬁzﬂmwwﬂ% |

f) |
:ﬁﬁa,ﬁzﬁaﬁﬂ?ﬂzﬁ?ﬂ/mmﬂﬁm

wé;,—m1 (b) Fae 2 |
o 13t 29 SRS
i e e

ﬁmﬁﬁmm/ﬁﬂmm?m'zmﬂ
i Faege =fera are Hfife < = g R

TeT

(a) HEATLT (B) S

(c) feeedt (d) dferTg
qﬁ’fﬁﬁﬂﬁ’lﬁﬂﬂmqﬁﬁq{ﬁiu%

gﬁafﬁnﬁﬁﬁaﬁtwﬁmﬁm%,:

1. a4l

2. &

3. foamu

4, IvE

2 feit T e | TR I AT |

He :

(a) 4, 3, 1 3 2 (b) 1,2, 33 4

(c) 3,2, 13 4 (d) 2,3, 134

frafafaa 8 8 foeg IR SI3USIE 3 300 2020
i gg fav 2050 &R U fhan 7
(2) TS FIIVSIH

(b) AT HIIVSIH

(c) TS HI3SIH

(d) Fremag w3veyE

Frafefed 4 | SR-a1 v 9 wfea &2 -
(31 (FR-wf = e &m)

(a) FAMEHH -  FATUE

(b) T5H - foramg m

(c) STHY - v

(d) T - RS



71. First ever containership from Kolkata Port to

Agartala was sent through which one of the

following Ports of Bangladesh in July 2020 ?
(a) Benapole

(b) Maloti
(c) Payra

(d) Chattogram (Chittagong)

72. Inwhich of the following regions of the world, the

73.

74.

7%.

production of citrus fruits is well developed ?
(a) Monsoon regions

(b) Tropical high lands regions

(c) Mediterranean regions

(d) Equatorial regions

Who among the following has been awarded with |
the 'Life ﬁme Excellence' Award in Earth System
Science in July 2020 by Ministry of Earth Sciences
Government of India ? |
(a) S. Suresh Babu (b) P.L. N. Raju
(c) S. P. S. Kushwaha (d) Ashok Sahni
Match List — | with List — Il and select the correct
answer using the codes given below the lists :
List -1 List - I
(Tropical cyclones) (Country)
A. Baguios 1. Australia
B. Hurricanes 2. China
C. Typhoons 3. Philippines
D. Willy-Willies 4. United States
of America
Codes :
A B C D
(a) 3 4 1 2
(b) 3 < 2 1
(c) 2 3 4 1
(d) 2 1 3 4
With reference to Eutrophication, which of the

following statement(s) is/are correct ?
1. It decreases dissolved oxygen of water.
2. It is a phenomenon of nutrient enrichment

of a water body.

RFL -1

71, wremm sgome & e % fon wEed =T
HTeAdTES AETH TS 2020 & FTeen 5
nummnwwmﬂm ?

70 fava i Frfefaa wew A & R @ W we

73. gl fagm mATed, mmm@ﬁﬁ?ﬂzoﬂ

-

Freferfiam # & fFd g2 womed famm 5 SRR

(cmﬁ fi. . FIE  (d) S A

74 @ﬂ_|mﬁ—llﬁ§mmwjﬁaﬁ%

= o3 T % A T IR I -
-FEﬁ_| ﬂ?ﬂ—"
' (IwTehfa=sa wham) (39)
A‘a']l}'h 1. AT AT
B. & 2. =M
C. TEEA 3. Twicars—=
| D. faefi-faef 4. FgT T FHEH
.
. A B c D
| @ 3 4 1 2
(b) 3 4 2 1
' (c) 2 3 4 1
' d) 2 1 3 4

75. AU (ETRHTH) H gy # frefafea 0 4
FH-T1/8 FYA el 2/8 ?
1qgaaﬁgﬁﬁﬂﬂﬁ¥ﬁm£I '-1'-'-1'55'{?“%1
> g el FF™ F TN ded Haud il HeAl 2 |

Select the correct answer from the codes given | = ol ™ F2 ¥ w9 I T |
below. l _

Codes : | e .

(a) 1 only (b) 2 only , (a) e 1 (b) shdad 2

(c) Both 1 and 2 (d) Neither 1 nor 2

(c) 17 2 aF (d) IR 1T 2




e
76. Darling range is situated along which of
following coasts of Australia ?

(8) North-Eastern Coast

(b) Southern Coast

(c) Eastern Coast

(d) South-Western Coast

77. Arrange the following events in chronological
order of their commencement :
l. Project Tiger
Il. Project Elephant
Hl. Wildlife Protect Act
IV. Biological Diversity Act

Select the correct answer using the codes given

below

Codes :

(@ LI, 1, 1v x (b) I, I, IV, IN¥
(c) UL, 1, 11, 1V (d) I, IV, I, 1l

78. Which of the following ocean currents is
associated with Indian Ocean ?
(a) Florida current (b) Canary current
(c) Agulhas current (d) Kurile current

79. The movement of nutrient elements through the
vanous components of an ecosystem is called

(a) Bio-geo-chemical cycle
(b) Bio-geological cycle
(c) Ecological succession
(d) Biological cycle

80. Match List — | with List — Il and select the correct
answer using the codes given below the lists -

List -1 List — I
(Ethnic Group) (Country)
A. Jews 1. Egypt
B. Teda 2. Iran
C. Begja 3. Libya
D. Lur 4. |srael
Codes :
A B C D
@ 1 2 3 4%
(b) 4 1 2 3
(c) 4 1 3 2
(d) 4 3 1 2

Where was the Mitti Bachao
Movement started in India ?
(a) Thane, Maharashtra

(b) Mysore, Karnataka

(c) Darbhanga, Bihar

(d) Hoshangabad, Madhya Pradesh

the

(Save the Soil) | 81.

76.

77.

78

9,

80.

Fe: b) 111, 1V, 11l
(@) 1, 11, 1, 1V Ed; TR |

(c) I, 1, 1, IV .\

Frrferfiaa § & SH-81 HEATTOE 9T Fﬁ%
. o 2 2 .
s ’ (b) AT YT

EZ; EARTE YT (d) S U |
v aififeufadl 93 % fafy= gewi A
dedl o1 AT Hacaldl a

(a) -y -T=HEFA =h

(b) Fa-prhie =5k

(c) urftfeatas 3AIHd

CIECIEEES |

gt — 1w gt -1 "

_ gt 10 7on ahwi s
= fod ™ e 1w
S

'|

E‘H'{ﬂﬁ'({:
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82.

83.

84.

85

86.

87.

88.

Which one of the f

(Country) .
(a) Morocco _ g:aab‘:tta“
(b) Tunisia _ Tonia
(c) Algena = Allers
(d) Cape Verde ~  Bemeks

Without green house effect, the average
temperature of earth surface would be
(a) 0°C (b) —18°C

(c) 5°C (d) —20°C

Postmasburg and its agi
Afnca Is major produc adjacent areas of South

minerals ? er of which of the following
(a) Uranium b) Bauxite
(c) Manganese Ed% Mic:t

(a) Ecological succession
(b) Sere

(c) Community dynamics
(d) Pyramid of biomass

Match List — | with List — | and select the correct

anstviz; usling the codes given below the lists -

. List -1l

(Mountain) (Country)
A. Atlas 1. France/Spain
B. Kalimanjaro 2. Ecuador
C. Chimbrozo 3. Tanzania
D. Pyrenees 4. Morocco
Codes :

A B C D

(a) 4 3 2 1
(b) 4 1 2 3
(c) 2 3 4 1
(d) 1 3 4 2

Which of the following natural substances
contains iron (Fe) ?

(@) Chlorophyll

(b) Collagen
(c) Keratin

(d) Myoglobin

In Malaysia, the 'Kinta Valley' is famous for
(a) Rubber Production

(b) Tea Production
(c) Tin Production
(d) Coffee Production

of communities that |

82.

83.

84.

85.

86.

87.

RFL - |
fFfefaa 4 A FR-m v ad giferd T2 7
(Zn) (T
(a) HIE=h — =T
(b) ZgAifer - T
(c) Freifian - 3Hesfiad
(d) *q T3 - A

&ltd e i (f BEE %Ee) F 3vE | ] -HdE
&1 3NET 9 B
(a) 0°C

(b) —18°C
(c) 5°C

(d) —20°C

eferoft sufre o1 aredrert 3R IEE adfigad] &
frefafaa # 4 fea @fe = YqE 30es 2 7

(a) gtfram (b) =TeHTSE
(c) W= (d) 3¥sH

e 1 quiskn A w9 vh fAfvaa wum @
FAeldl B, HEA B

(a) rftfrufas 3 Fn
(b) "t
(c) Tqer Tfashl
(d) ¥ =1 faafae
g - | g - 1| & gafera fifo qun gfea F
- - 0
(ea) (<91)
A. TZHH 1. %8 /T4
B. fe=m 2. IFREN
C. =g 3. qaAT
D. urst= 4. HIEh
He
A B C D
(a) 4 3 2 1
(by 4 1 2 3
) 2 3 4 1
1 3 4 2

(d)

freferfiaa 1 A T Wil v  Air (Fe) fremm

BT R 7
MEIGED

(a) TR
(c) Hufeq (d) AATAIE

88. wafyrEn ¥ ‘frver ardl wfag 2

17 -

(a) T IereA & ferg
(b) =T I & fern
(c) &7 Ieare & fere
(d) e I & ferg




89. Change in the base sequence within a gené IS

called
(a) Mutation (b) Cloning
(c) Fusion (d) Breeding
90. The equator does NOT pass through which of [ 90.
the following Countries ?
1. Gabon
2. Somalia
3. Equatorial Guinea
4. Rawanda
Select the correct answer using the codes given
below.
Codes :
(@) 1and 4 (b) 2and 4
() 2and 3 (d) 3and 4
91. Which of the following is used in fire alarm ? 91.
(a) Photo cell (b) Water

(c) Solar cell (d) None of the above

92. Which Part of the Constitution has the provisions | 92,

for Panchayati Raj System ?
(a) IX (b) Vi
(c) N (d) IVA

83. Which of the following polymer is NOT a 93.

thermoplastic ?
(a) Teflon
(c) Polystyrene

(b) Neoprene
(d) Polythene

94. When was the third tier added to Indian Federal 94.

System ?
(a) 1990 (b) 1991
(c) 1992 (d) 1993
95. In human body, the di ' ' NS | |
: gestion of protein begins in | 95.
which of the following organs ?
(a) Liver
(b) Mouth

(c) Small intestine
(d) Stomach

l"!I'~'|w1

89 Gﬁq%,ﬂmmmﬁqﬁaﬁqm% %
(a) Ieafradd (b) wheregur 6. W\
(<) G (d) T ':_
Frrferfirm i 8 5 231 & B0 ety y
Tl 8 7 :
1. &= (
2. gmrfaa * 97
4. @Sl
2 foa ™ 2 | 7 I R |
L A
(a) 13T 4 (b) 2 3 4 98,
(c)23ﬂ'{3 (d) 337 4 |
Wmﬁﬁﬁﬂfaﬂaﬁﬁ%ﬁ?ﬂmmm'
TR ?
(a) ®IET A (b) urft
(c) §R A (d) TR H A F 3
éﬁun%%amﬁﬁamﬂmmawm}
ey e M #7
(a) IX (b) Vi IIl
() I (d) IV |
ﬂq%f@aﬁﬁah—magam,@ﬂﬁi@f&mnﬁg? |
(a) ST (b) fanfs |
(c) STTT=A (d) giferefs ‘
MR HeTeeh sqeet # gt et e Sy 0
(a) 1990 (b) 1991 |
(c) 1992 (d) 1993 \

|

Hﬂawﬁzﬁﬁ\ﬂf{wwﬁq%f@aﬁﬂﬁmm |
T WY BT R 7 |
(@) Fpd
(b) §e |
(c) B AT |
(d) AT i'



i RFL-

96 mi;h of the followlng ISNOT POssible p
parliament under Article 3 of the Co Yalawof | gp. frfafas § /@ F19-11 afavs * =0T 3 % A
(a) Formation of new States AN 2

1 HHE o U HHEF g @9d TR 7
(b) Alteration of areas of States

(a) T4 U=l =1 TS at
(c) Alteration of boundaries of Statesg (b) Tt % & R o
(d) Admission of new States (c) =i <1 Hmad o qiEe
(d) 74 T4t = =W

g7. Use of polished rice in hum ‘
following diseases an diet causes | g7

q viTER # e R g e & T A 3

(a) gicfl;;ets (b) Aheriiia ﬁ':%ﬁ:ﬂgﬂﬁﬂ & A B ; :
(c) Goitre (d) Beribers (::; 25“?1 ((Z}) TEdTEqdl »
gg. Inthe removal of which of . _ | o i i
does the Parliament Nrﬁ- pt?aeyf::;”:gl‘eg ;ﬁfﬁcnals | 98. M= 1 & H-H vt =1 %2 # gae H B }
1. Judges of the High Coyrt T T Bt R 2
2. Judges of the Supreme Court 1, I=9 =T & A -
3. Chairman of the Union Public Service 2. I=HaH TATErd & AT
— 3. 3ream, §a i A S |
4. Comptroller and Auditor General | ' TRErETh
of India % I+
Choose the correct answer from the codes given | Ml s -
below. 3 = fod M g2 A @ I
Codes : .
1 and 2 onl | op
(3)1 Zaday (b) 3 and 4 only . (@) a1 9l 2 (b) aet 3aUT 4
(c) 1, <and 3 only (d) 3only (c)has 1, 2aa 3 (d) Fad 3
99. Which ofthe following vitamins is mainly responsible | 99. Fr=ifeifiga # & w1 faeifi e & w0 ELE
for blood coagulation in human being ? & fou e 2 7
(a) Vitamin K (b) Vitamin E . (a) faarfm = (b) faerfim 3
(c) Vitamin A (d) Vitamin C , (c) faafim © (d) faarfim &

100. The superintendence, direction and control of all | 100. T=Tad 3 fefu U 9 aret @t Frateet & g
elections to the Panchayats are vested in

=1 afaor, fRym i frgsm ffew g 2
(a) The Governor ' (a) T=IITA |
(b) The Election Commission of India ' (b) Wd % frafem amam |
(c) The District Panchayat Raj Officer GRESIREIRERIERC IR EaT q
(d) The State Election Commission (d) U4 fratem smam
101. Consider the following statements about human | 101. E;qﬂfﬁfﬁ? F Tt ¥ Prafafas s w =R
brain : :
1. The brain is responsible for regulating the | 1 ferss geantd i FafEd TEd & o I 2 |
heart beat. | ' 2. 7% Wi % Hqer & fere I ? |
2. It is responsible for balancing the body. | 2 A m %2 A g& I gﬁq 1
Select the correct answer using the codes given | .
EEIOW' . . (a) Fat 1 98 &
odes :
(a) Only 1 is correct ' (b) ed ZF@I?
(b) Only 2 is correct | (c) 1 31T 2 gl w& B
(c) 1 and 2 both are correct l @I 1A > Tdl 2

(d) Neither 1 nor 2 is correct




106.

ﬁ NOT correctly

one of the following p3airs is

102. Which
e cil Article 263
terstate Coun | e
{t?]; f:nfanca Commission - ::;;E i
{ dministrative Tribunal - .
5, Golo Article 315

(d) Union public Service -

Commission

103 Which of the following substances is obtained

from a tree ?
(a) Asafoetida

(c) Tincal

(b) Bitumen
(d) None of the above

104, Which Article of the Indian Constitution descnbe
the Central Vigilance Commission ?

(a) Article 268 (b) Article 280
(c) Article 276 (d) None of the above

105. Given below are two statements, one is labelled as
Assertion (A) and other as Reason (R) :

Assertion (A) : Invert sugar is more sweeter than
sucrose.

Reason (R) : Invert sugar is obtained by the
hydrolysis of sucrose.

Select the correct answer from the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

Consider the following Chairpersons of the
National Women Commission :

1. Jayanti Patnaik

2. Mamta Sharma

3. Dr. Girija Vyas

4. Dr. Poornima Advani

Select the correct chronological order of their
appointment from the codes given below.
Codes :
(@) 2,1, 3and 4
(c) 1,3,4and 2

(b) 2,3,1and 4
(d) 1,4, 3and 2

| 102. Wﬂﬁﬁﬁm-m@m%mh

103.

104,

105.

106.

RF

¥

(a) Jr=TU=a TS - AR 26, w»
(b) fare amam - AR 28

(c) wamafiE AEfuFw — AT 33,

(d) H§9 S dar AT - IR 315

P 1 & -1 92 99 8 W Ry

(a) (b) fremsfa

(c) germ (d) ITF | A Fr{ 1y

et wfaUH H BHE-E TR U Hry,
WA T Ui A R 7
(b) T=B2 280

(d) Ioga 4 A = 3

2 @ wya A ™ &, o A U T (A) 1
At 1 H (R) FE1 7R
o (A) : GHIA H I T TR AF

gt 2 |

HWUT (R) : WG I6T H hia & Al - I90e §
yred fepan S 2 |

9 fa M F A T IT I |

C T8
(a) (A) 3 (R) 21 && & a2 (R), (A) 1 =@

ST HAl &

(b) (A) 3 (R) 21 |& & T (R), (A) il 7
ST TE Sl 2

(c) (A) &4 2 9T« (R) 7T 2

(d) (A) TeTd & 9T (R) 4 2

st afgen amam & Fafafea ssagl w faen
$ifsa .

1. I

2. AT I

3. 1. fifan =\
4. 7. qfor arsar
;ﬂ;ﬁﬂﬁ“ﬂﬂﬂmﬁﬁ&@wa

T
() 2, 1,334 (b) 2,3, 134
(c) 1,3, 432 (d) 1, 4,33Mm2



: RFL -
tch List — | with List — || ang
107. ;dniwer from the codes give:: bi?é?tt;leui?sﬁfct 107. g -1 g -4 gaferd ifem e giaal *
List—1| List -1 * = nﬁ@ﬁﬂﬁwgﬁq’
(MesnY (Property) - | et - |
A. Sodium 1. Good condyctor (am) ({'["1“'5)
of EFECtncity A Tifzam 1 ﬁ‘rgﬂ &1 3= AT
B. Mercury 2. Liquid at room B. I 2 wHHL < d1d T
| tempEFEtUrE | C Elm 3 IeqT &l Hdlclh
C. Silver 3. Poor conductor of heat D. i () 4. =k A A B FHE
D. Lead 4. Can be easily cut with knife Hehdl &
cndﬂﬁ . F
A B = D A B C D
(a) 2 3 1 4 (a) 2 3 1 4
P 1t = 9 2 ) 1 4 3 2
cy 4 =2 1 3 c) 4 2 1 3
(@ 4 1 2 3 @ 4 1 2 3
108. Which region of the country conferred speri Wit wfaum 3 eae 371- 31 6 3T o *
status under Article 371-J of the Canstitut?:r? ':; o frg a3 = ﬁ[; ferfa H MR 7
India ? B HE|
(a) Nagaland (a) AMTAUS
(b) Hyderabad and Karnataka (b) ¥EUETg 3T FHATH
(c) Maharashtra and Gujarat (c) HENIs 3T =i
(d) Ladakh (d) TTeEE
109. :gn;t%r; t?;g of the following substances is NOT 109. ﬁ‘ﬁ'ﬁkﬁlﬁﬂﬂﬁ 4R Ha-g1 HEA 9T TE R 7
(a) Fibroin (b) Lexan (a) BISHTE (b) =i
(c) Neoprene (d) Teflon (c) famd (d) CFAH
110. Whticl? dm]?e of the following is NOT correctly | 110, fi=fofRaa & @ ®=-a1 T T8 Huferd g 2 7
matche
(a) Fundamental Duties - PattiVA (a) 7S T - MV
(b) The States -  Part Vi (b) T4 - VI
(c) Attorney General of India -  Part Xl TR _
(d) Services under the -  Part XIV () m ! i W
Union and States | (d) g 3R TS & 3HH Fad —  wym XIV
111.  Match List—| with List— Il and select the correct | 111. H= — | & F=H — | ¥ Gafera Fifse qan giaat &
answer from the codes given below the lists : f= i@ ™ $e & ad I3 gfw .
List — | List - Il s CLE gt - |l
(Substance) (Use) (agred) (3rwram)
A. Blue Vitriol 1. Artificial rain A. T e 1. Hfm i
B. Eosin 2. Fungicide | B3 2. Fah
C. Silver iodide 3. Red ink C. faeat IiERE 3. o =@
D. Zinc phosphide 4. Rodenticide D. % ®iewrse 4. Frasam (VS=Amsh)
Codes : E T
A B C D A B C D
@ 2 3 4 1 @ 2 3 4 1
() 2 1 3 4 M) 2 1 3 4
¢0 2 3 1 4 c) 2 3 1 4
d 2 4 1 3 d 2 4 1 3



112. Which is the largest Committee of the Indian

Parliament ?
(a) Public Account Committee

(b) Estimates Commiltee
(c) Committee on Public Undertakings

(d) Committee on Petitions

113. According to the Report released by NITI Aayog
in December 2019 on 'Sustainable Development
Goals India Index 2019-20', the Uttar Pradesh is

grouped under which of the following categories ?
(a) Aspirant

(b) Performer

(c) Front runner

(d) Achiever

114. Which Articles of Indian Constitution are related | 114,

to citizenship ?
(a) Article 3 to 10

(c) Article 5 to 11

(b) Article 4 to 11
(d) Article 6 to 11

115. Which of the following cities of Uttar Pradesh
Is/are covered underthe ‘Hentage City Development
and Augmentation Yojana (HRIDAY)' ?

1. Varanasi
2. Mathura
3. Prayagraj
4. Ayodhya

Select the correct answer from the codes given
below.
Codes :
(@) 1 only
(c) 1and 2

(b) 3 only
(d) 1,2, 3and 4

Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R) :

Assertion (A) : The nature of Indian Political
System embodies the elements of ‘continuity and
change’.

Reason (R) : The Indian Political System

116.

contains the elements of the following political |

system such as the modern style, the traditional
style and saint style.
Select the correct answer from the codes given
below:.
Codes :
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)
(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

[ 113.

RFL

| |
WA Ta wHe ) 7R A affy gy
(a) S S wfy RLE

112.

(b) wreher Afufy

— L
! . i ———

TR 7

(a) AThIEft (uwdiiz) |
(b) 37=31 &I (Twivm) |
(c) vt (%e =)

(d) & qreeeRal (uefran) |

R M 3 -3 102 e & iy,
() 3BT 3R 10 (b) wg=BE 4@ 11 |

© 3D SAN (d) sgedReA Yy
115. Wm%ﬁq%ﬁaa:vﬁﬁﬁm-m/ﬁﬁm |
Wﬁwmaﬁrqﬁam(m)*%mhma |
1. SRyoTHt |
2. Hep |
3. TS |
4. 3r7qre i|
A9 fe2d ™ e & ¥ 3w gfi | |
T |
OEER (b) I 3
(c) 1 3R 2 (d) 1,2, 337 4

:ﬁ%amﬁﬁn&%,ﬁrﬁﬁ@aaﬁm(mm
GBI R (R) HET T 2

116.

L T
(a) (A) 3R (R) EHT & & aen (R), (A) i st
T HAT 7

(c) (A) HEl 2 934 (R) Teid 2
(d) (A) TTeTd ® I3 (R) T 2




Fo
17. What should be Totg| Fertil

opulation in ord ity Rate
evel of fertility 5 " (© "€ach at the réS]ZEg,,?;; \
a) 1.0
(b) 1.
@2 (@ 23

strength of Council of |
Minister In the States ?

18. What can be the minimum
Ministers including Chief

17, WA & wftreames s o vd=n @ fom srwen

| 118. T4l U yem wfm rfmfeg § A =g

RFL -1

B I (.0 3W.) 0 E = ?
(@) 1.0 (b) 1.6
(c) 2.1 (d) 2.3

(a) 10 (5) 12 . |G F B HeRdl R 7
(c) 13 ) 14 (@) 10 (b) 12
| (c) 13 (d) 14
19. Which of the following methods h
used to estimate poverty i po. gsihave been | 119, wia # it F e 3 Frafefea § F FR-w/A
1. Head Count Ratio , faftai =1 vt fpn s @ B/2 7
2. Calorie intake 1. fa morn fafy ‘
3. Household Consumpti : 2 e
4. Per Capita Income Plion Expenditure 3 mﬂmﬂlmw =
Select the correct answer from th : 4' ufa =afe a1
below. ® codes given '
Codes : l j:.ﬁa@izﬂaﬁmﬁl
(3)322:13 (b) 1,2 and 3 (a) 2 3T 3 (b) 1,2 3 3
(c) Yy (d) 1,2, 3and4 - (c) ®ad 3 (d) 1,2,33M 4
0. Thue Supreme Court of India enunciated the doctrine | 120. WG % Fars e 3 wEaE & g e
of “Basic Structure of the Constitution” in ' ¥ e =1 o= fEm
(a) The Golaknath Case in 1967 (a) TiersTy aTg 1967 |
(b) The Keshavanand Bharati Case in 1973 (b) e wiedt 91 1973
(c) The Shankari Prasad Case in 1951 (c) TRl wHE arg 1951 ®
(d) The Sajjan Singh Case in 1965 (d) B fég T 1965
1. With reference to ‘Ayushman Bharat Yojana' which | 121, ‘3™ Wi doA1T % <M W frfafiga @ A
01f t?]reh fol\l:?wmg statement(s) is/are correct ? FH-T1/Y FUF 88 8/2 7
. This Yojana provides free health insurance s S safEe o :
of Rs. five lakh per person. . 1o 98 S m;nﬁ%m bt
2. The expenses incurred in this Scheme . \Slise Eﬁm A s
(Yojana) is shared between the Centre and | 2. 38 A H B A S0 ﬁﬁﬁ 3T T
State in 60 : 40 ratio. , yrfrerft 60 ¢ 40 3 3 | Bdl @ |
Select the correct answer from the codes given | ¥ 3 M F | F@ IT AT
below. l e :
Codes : - . (a) e (b) &haet 2
(a) 1 only arny d) AdM AR 2
o Both1and2  (d) Neithertnor2 | (97 3t 2 2F @
> Which one of the following is NOT correctly | 122. frefefia # 8 HH-T & FW Eli.ﬂﬁ“ qﬁ% ?
matched ? | (a) ¥I=8G 39A  — HAM =M T R
(a) Article 39 A - Equal Justice and free fafres wEmal
legal aid (b) 3T 40 — TN U=l Sl e
(b) Article 40 ~ — Organisation of Village ) e 44 ot 8
Panchayats L Y-
(c) Article 44— Uniform CivilCode (d) FT 48 - IR H
(d) Article 48 _ Separation of Judiciary H JUeEEhl

from Executive

23-




%
123. The main objective of sustainable Fuurism IS
(a) To increase the number of t;:unsts
(b) To manage mass scale tourism and small
scale travel . |
To manage tourism and environment while

maintaining cultural integrity and ecological

processes
(d) None of the above

(c)

124 Consider the following statements in the context
of Attorney General of India :

1 The President shall appoint a person who
is qualified as to be appointed a Judge of
Supreme Court.

2. The Attorney General shall receive such
remuneration as the Parliament may
determine.

Select the correct answer using the codes given

below.

Codes :

(@) Only 1 is correct

(b) Only 2 is correct

(c) Both 1 and 2 are correct
(d) Neither 1 nor 2 Is correct

With reference to the ‘"HAUSLA - 2018' which of

the following statement(s) is/are correct ?

1. 'HAUSLA - 2018' was organised by the
Ministry of Women and Child Development,
Government of India in New Delhi.

125.

2. It was National Festival for Children of Child |

Care Institution.
Select the correct answer from the codes given
below.

Codes :
(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R) :
Assertion (A) : Indian federalism is called ‘Quasi-
federal’.

126.

Reason (R) : India has an independent judiciary |

with power of Judicial Review.

Select the correct answer from the codes given

below.

Codes : . _

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

123.

124.

125.

126.

-24.

RF|_

S

drvefia (FeAee) THe e 3w
(a) gfeni @t &A1 H

(b) @2 FuT T T A ?ﬂaﬂﬁtﬁmmﬁ%
qa=y Al e ,

(c) |iERidH r@Usdl 3T Trifefae fmna
A T AU T AN T T g

(d) Iutrad | 8 g TE

W%W%ﬁﬁﬁﬁﬁ%ﬁgﬂqﬁ;ﬁm

ferem I -

1. Tregata feredt UH wafed 1 P wom 5
ﬁaﬂw%mﬁm%mﬁﬁgﬁ%h
32 & | |
sraurfd HL |

A= feat 1 Fe | | I AT |

Fe :

(a) haet 1 & 2

(b) Fael 2 @Al 2

(c) 1 31T 2 21 H&El &

(d)ad 19 & 298 2

el — 2018' & gy 1 Fr=ferfad 9 & FR-m)3

Y TE 8/8 7

1. 'BreT — 2018’ 1 IETAA Afgen wd 95
faeTa GG, WA 9ThR g1 A3 ool |
fepam T wun |

2 ug gl ®hl cE-1E T aArel GEAHAT & T=]
&1 UG Icqd AT |

fier fed ™ % | F& IW T |

%2

(@) had (b) Fae 2

(c) 1 3T 2 THI (d) a1 1982

I 2 ed fed T 2, 7990 | U & YA (A) Ju

gEl I HRU (R) 8l T 8

A (A) : YA GETeHe SHFET &1 374 -Farcis

gl J1dT 2 |

FRUT (R) : UG H Ush @ad FEdiere & 94

TR gAML 1 fusr 2 |

i fod ™ e 9 | T 3w g )

He

(a) (A) 3 (R) 21 @&l & 3 (R), (A) Fit =&
SATE HLdl 2

(b) (A) 3R (R) 31 @&l & 9t (R), (A) i T&l
ST 81 il 8

(c) (A) §ed & W (R) TTetdl @

(d) (A) TEd B 9 (R) T &




;

3.

India aims to achieve the .
economy by > trillio
(a) 2022

(c) 2026

N dollar

(D) 2024
(d) 2030

Joint sitting of Lok Sabha g,
take place to resolve dead|q

(a) Ordinary Legislation »
(b) Money Bill ¢~

(c) Constitutional Amendment Bil
(d) Appropriation Bill

d Rajya Sap

Human Development Re

the concept of Human p
Human Development Rg;?};tty Index (HPJ) pyt

Multidimensional Poverty lndreplaced It with

Port 1997 introdycegq

ear ex (MPI) in the
1999
) 2010 (b) 2005
(d) 2015

Which of the following gave legal basis to extra-

ordinary powers exercised
of India during Lockdown ? by the Government

1. Mental Health Care Act 2017
2. Disaster Management Act 2005

3. Enemy Property Act 1968
4. Epidemic Diseases Act, 1897

Select the correct answer from th '
S
below. Cotes g

Codes :
(a) 1,2and 3 (b) 2,3and 4
(c) 2and 4 (d) 1,3and 4

Given belpw are two statements, one is labelled
as Assertion (A) and other as Reason (R):

Assertion (A) : Government has launched the
‘National Infrastructure Pipeline (NIP)' for period
of 2020-30.
Reason (R) : The objective of NIP is to provide
equitable access 10 infrastructure for all.

Select the correct answer using the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are trué but (R) is not the

correct explanation of (A)

| 127.

128

129.

130.

(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

-25-

131.

RFL -1

T
Wégﬁ%ﬂ?mmﬁmmmﬁmﬁﬁm

BARSES Rec i A
(a) 2022

(b) 2024
() 2026 (d) 2030
Fefafas 4 4 feg w nfaou

(b) W= oz
(c) FAmfas gy fatas
(d) I fatess

aE T g (ve.d.AE.) S 9
faerra frdré 1997 3 st 1 T, AR T e
ﬂqﬁqaﬂagmﬁnﬁé!@hﬁ(@.ﬁ.m.)m
frfafiaa 0 A feg ad | wfaemitd s g 7
(a) 1999 (b) 2005

(c) 2010 (d) 2015

THIHET 5 QT Wit HEHT  GT TIF FRURT
feaa = fafies smam Frefafaa 3 3 6 S
| W B3 ?

1. Hed e $It wae, 2017

2. festreer Aaende vae, 2005

3. yg-grafa I uf aredi T, 1968

4. ufusfies fasioe wae, 1897

= ot ™ g A 7 I I |

T
(a) 1,2 3N 3
(c) 2 3 4

ﬂ%awﬁﬁﬁ%,ﬁqﬁﬁ@ﬁmmﬂm
zgﬁﬁm (R)WW% :

FUT (A) | TR FE0A T (w3184 )’
TR g 2020-30 gty 3 feru wmey TR
pei
m(R):m.mﬁ.ﬁ.wﬁmmﬂﬂﬁWm

faun W O € |
23 fey T Fe @ FE IR AT

(b) 2,33 4
(d) 1,334

Fe: i
(3) (A) @1 (R) &H1 FH 2 3 (R), (A)H T

(b) (A) T (R) & ae 3 T (R), (A) N H
SITE] T8 T B

(c) (A) T 2 T (R) TTetd &

(d) (A) T & T (R) T&l &

=
e
.'1 a

T



132. Match List
answer using th

t — | with List—1I and select the c_.nrre:cl
e codes given below the lists :

; List =1l
- 1
(.lﬂ-ulrstitcle) (Prnwsmn)
A. Article 61 1. Removal of Deputy
| Chairman of Rajya
Sabha
B. Article 67(b) 2. Impeachment of
President
C. Article 94 3. Removal of Vice-
President
D. Article 90 4. Removal of Speaker
Codes :
A B C D
(@) 2 4 3 1
(b) 3 2 4 1
(c) 2 3 4 1
(d) 4 1 3 2
133. Wi;h reference to the World Bank's Ease of
Doing Business Report, which of the following
statement(s) is/are correct ?
1. In Ease of Doing Business Report 2020,
India's rank is 63.
2. India ranking for Ease of Doing Business in
the year 2019 was 77.
Seellriit the correct answer using the codes given
Codes :
() 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

134. On which of the following dates, Constituent
Assembly of India adopted the National Flag ?
(@) 22 January, 1950

(b) 24 January, 1950
(C) 22 July, 1947
(d) 22 July, 1948

135.

for Foreign Portfolio Investment | '
2020-21 has been extended u;::i:u:::".I — Pudget

(a) 9% y
(c) 12% fgg :Ilg‘;’::

36. Inwhich of the following places the Bio—teehnology

Park is located in Uttar Pradesh ?

(@) Kanpur (b) Ghaziabad
(c) NOIDA (d) Lucknow

133.

134.

Limit of investment for outstanding corporate bond | 135

136.

RFLal
_,@@_llﬁgﬂ%ﬁﬁﬁnww
s 2 ™ g2 & W I :
T - | =l - ||
(377=03) 1 ‘“'E"‘%'“’
A_ h - 51 m m thuqlqlﬁ
! BeMI
B. =8 67(@) 2. TId W warfingyy
C. =85 94 3. ITUUR I 7wy
D. 31 =8¢ 90 4. Tt i g
E
A B C D
(a) 2 4 3 1
(b) 3 2 4 1
(c) 2 3 = 1
(d) 4 1 3 2
fava d 1 9 376 g3 faorm Ra F g &

Fefafaa Femi # & F-a1/3 Fu= 7 /3 -
1. 59 3% 337 faeia fidid 2020 § wra =
6397 T & |

2. 3 20197 3 317 ggn o & v
77 91 TH o7 |

fra fo ™ e @ wd 3w g |

Fe:

(a) shae 1 (b) e 2

(c) 1 3R 2 2 (d) Far 17 & 2

W st \iaue @ 3 frafafe § 3 feg ity <
TS &9 Y YT/ ?

(a) 22 S=adt, 1950
(b) 24 s=att, 1950
(c) 22 18, 1947
(d) 22 JAT3, 1948

ﬁhﬁﬁﬁ%ﬁﬁ%mﬁ%ﬁmmﬁmﬁ%

(a) 9% T (b) 10% T

() 12% a= (d) 15% @
mmﬁm-%ﬁaﬁﬁqﬁﬁﬂ%@a

d Fal fRm 2 7 -
(@) ALY (b) mMRarETe

(c) Trugr (d) @S




% \atch List— | with List - Il and sg|e

ctt
37 answer from the codes given belo he Correct

List | List - Il
(Scheme) Lo
A P.M. Jan Arogya Abhiyan Y ;’;F.gear
g. P. M. Vaya Vandan Yojana %, 2018

c. P M. Rojgar Protsahan Yojana 3

5. Swachh Bharat Abhiyan ) ;glz
Cadﬂii S & b

3 v
"SI
t(ﬁ 2 4 3 1 L

. The Dev?|gpmen?. Monitoring and Evaluation
Office. which monitors the Progress of long term
solicies in an attached office under
(a) Prime Minister Office
(b) Ministry of Home Affairs
(c) Cabinet Secretariat

(d) N ITI Aayog

,  Which one of the following is NOT a green house
gas found naturally in the atmosphere ?

(3) Nitrogen oxide (b) Carbon dioxide
(c) Methane (d) Ozone

Which of the following statements is NOT correct
for National Pension Scheme for Retail Traders/
Shopkeepers and Self-employed persons ?

(3) Those who are in age groups of 18 to 40
years are eligible.

(b) Their annual turnover should not exceed
1.5 crore rupees.

(G) National Pension Scheme's member are
also eligible.

(d) It has @ monthly minimum assured pension
of Rs. 3000.00.

With reference to the programme “NIDHI" which -

of the following statement(s) is/are correct ?

1, The programme of “NIDHI" was started for
students to begin start ups.

2. Its aim is to financially support 20 students
for start up in each year.

Select the correct answer from the codes given
below.

Codes :
(@) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

138.

139.

140.

141,

fraffas § & S -a1 T WThias &9 § JrgHvS
#§ 91$ S arelt i 'ee W AE e ?

(a) T HFEEE  (b) HE SHAEARS
(c) T (d) A

Preififiae & F-w Fue G0 A /GHAGR

3 EieTTETS safEaat % fon TS geE A

FIRE T AR 2 7

(a) 18 § 40 9§ 31Tg &1 & TN 39 I B |

(b) 3! TS TF-2A (SAHR) T4 1.5 FUS
¥ s T 8 |

(c) TR T9= A1 o Feed 38 913 2 |

(d) 36 =Nt T 3000.00 T Wi Y

gfred € |

Ry slEn % g o e # ¥ FR-T/R U

TEl 8/8 7

1, “Fift e ol & e ®rR o™ 7Y I
fean mam 2 |

2, 3 IV 20 BET H W 379 g Ao
foeiha e & 8 |

f I ™ gz 3 7 I T |

He:

(a) et 1 (b) ¥ 2

(c) 1 3R 2 g (d) IR 1TH 2



142. Generally, enviro

143.

144.

145.

146.

nment can be classiﬁed as

' lowing
following categories. Which among the fol

is NOT a part of such category ?
(a) Operational Enuirnnment.
(b) Physical Environment

(c) Cultural Environment

(d) Biological Environment

Given below are two statements, oné isé:a;t:_aelled
as Assertion (A) and other as Reason (R)

‘ ~ ion Budget 2020-21
Assertion (A) : The Union 202
has fﬂcused(mn Rural Development with aim of
doubling farmer income.

' | ounced
Reason (R) : The 16 Action points ann
in the bédg);et i< centred around agriculture,

irrigation and rural development. |
Select the correct answer from the codes given
below.
Codes : |
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)
(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

The concept of 'Ecological Transition’ was first
used by

(a) Elton (b) Benneft

(c) Berkeley (d) Ratzel

The Travel and Tourism Competitive Index (TTCI)
IS released by

(a) World Bank

(b) International Monetary Fund

(c) World Economic Forum

(d) United Nations Development Programme

Which of the following are the impacts of Global
Warming ?

1. Rise in sea level

2. Melting of glaciers

3. Spread of diseases

4. Bleaching of Coral reefs
Select the correct answer using the codes given
below.

Codes :
(@) 1,2and 3only  (b) 2and 3 oy
(c) 1,33nd4onl?/ (d) 1,2,3and 4
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143.

| 144.

145.

| 146.
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E)E(A)Hﬁﬂ (R) SH1 &ea & a1 (R), (A) H wf
AT hdl

(b) (A) @ (R) 31 &1 & 76g (R), (A) 1
SIrE T8l Ll B

(c) (A) & ® T (R) 7TeTd &

(d) (A) Ted ? T (R) 4 B
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(a) Teed g
(c) St g

(b) &+ gRI
(d) Yesie g

Fraferfia i & a3t afy (e i
HTINE B ?

1. 995 9 dc bl Sl

2. Teadt =1 foraemn

3. STt 1 He

4. vaTa NI &1 o= g

&l I H g9 A= @ ™ g2 ¥ hifvw

%c .
(@) haat 1,233 (b) et 2 3 3
(c)®haad 1,334  (d) 1,2 33N 4
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sonsider the following events

1 chronological order - and dmange them
' 14
{. Establishment of NABARD 7. Fefafgs wensit «w fan fifwg s 372
2. Self Help Group Bank Linka HICTHITTEN sqafed Hifm -
3. Kisan Credit Card Plan 9€ Programme L m 1 T
4 Establishment of Req; 2. T R GR F Ak [ hHA
ot Regional Ryrg| g ' 3. fohum fsz & g
select the correct answer from, ank | .
elow the codes given 4. & oo e < w2
sodes : A= 2 ™ g & vl 3 afm o
B) 4|11213 (b) 4 | E:
2,3

c) 1,234 ) 4 3 2': | (a) 4,1,2 3 (b) 4,2, 3,1

e the followi o (€) 1,2,3,4 (d) 4,3,2,1
;r:;a?gand zetz meg events in chronological-
}tr::dees given be; he correct answer from the WS, TSR W SO A e
: v shifore qen = I
| Rio Earth Summit | L ok fodt 1 e @ TE I FAT |
_ Publication of : . ' A
:: Enforcema:t B:J ndtand Commission Report | II. srEAvg 3 fard &1 qehTee

- Enforeement of Montreal Protocol . I, Sif=aTe Wreteiel =1 Tadd

V. Publication of “The Limit to Growth' R
Codes : eport l Iv. < feifie 2 o foare =1 9
) ! Ml":' ': : (b) IV, 11, 1, |~/ ?:: b
8) Bl 1 (d) VLI e (c) VI, 1, 1 22 l::' :LIIIIILI:

With reference to the Skill India Campai .
. paign, wh . g
of the following statement(s) is/are cur?ec:t ? ich | 149, e ra HEm F w1 Fr=fafad o & A-a1/4

1. Prime Minister had launched the Skill India o W R/E
Campaign in July 2015, 1. S WRA S0EE FH IHAE THEEE 3
2. The main objective of this Campaign SeiTs 2015 1 1 ot |
was to train India's Youths in information 2. 39 NPEE T T ILIE WG F A H
technology. | A S
Select the correct answer from the codes given
below. 2 R ™ g § W IO
Codes : ' Re:
(a) 1only (b) 2 only (a) e | (b) Had 2
(c) Both 1 and 2 (d) Neither 1 nor 2 ' (c) 1 3 2 g (d) Ad 178 2
The National Chambal Sanctuary does NOT fall | 150. T wEe ey Fefafed | | e TS
in which of the following States 7 femn i 2 ?
(a) Uttar Pradesh (b) Madhya Pradesh (a) 3T 9T (b) WEA W
(c) B (d) TSEAH

£€) Haryana (d) Rajasthan
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